
[4302] [BLUE]          Page 1 of 8                                                    

Roll No. .....................................                                                      Total Pages: 08 

 

4302 

M. Com. (Previous) ABST EXAMINATION, 2018 

Paper -II 

ADVANCED COST & MANAGEMENT ACCOUNTING    

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M& v& v& v& v 

UNIT –I@ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.1 (i) What is Pareto analysis?  

  ijsVks fo’ys"k.k D;k gS\ 

 (ii) Which are two internal factors that affect price? 

  ewY; dks izHkkfor djus okys nks vkUrfjd ?kVd dkSu ls gSa\ 

UNIT –II@@@@    bdkbZ bdkbZ bdkbZ bdkbZ – II 

 (iii) What do you mean by Decision Making Process? 

  fu.kZ;u izfØ;k ls D;k le>rs gSa\ 

 (iv) What do you mean by Marginal Costing with reference? 

  fu.kZ;u izfØ;k esa lhekUr ykxr ys[kkadu ls D;k vk’k; gS\  

UNIT –III@@@@    bdkbZ bdkbZ bdkbZ bdkbZ – III 

 (v) What is the meaning of Activity Based Costing?  

  ^fØ;k vk/kkfjr ykxr^ ls D;k vk’k; gS\ 

 (vi) What is Activity cost operating rate? 

  fØ;k ykxr pkyd nj D;k gS\ 

UNIT –IV@@@@    bdkbZ bdkbZ bdkbZ bdkbZ – IV 

 (vii) Write the types of standards. 

  izekiksa ds izdkj fyf[k;sA 

 (viii)  What are the components of Target costing? 

  y{; ykxr ys[kkadu ds ^^la?kVd^^ D;k gSa\ 
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UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

 (ix) What is cash flow? 

  jksdM+ izokg D;k gS\ 

 (x) How “Economic value added” is being calculated? 

  vkfFkZd ewY; tksM+ dh x.kuk dSls dh tkrh gS\ 

PART – B @ @ @ @ [k.M[k.M[k.M[k.M& & & & cccc 

UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I     

Q.2 Write four causes of price discrimination? How it can be controlled? 

 ewY; foHksnhdj.k ds pkj dkj.k crkvksA bls dSls fu;af=r fd;k tk ldrk gS\  

OR @ vFkok@ vFkok@ vFkok@ vFkok 

 What are rules regarding pricing? Why it is needed? 

 ewY; fu/kkZj.k lEca/kh fu;e D;k gS\ bu fu;eksa dh vko’;drk D;ksa gksrh gS\ 

UNIT –II@@@@    bdkbbdkbbdkbbdkbZ Z Z Z – II 

Q.3 What is Decision Making Process? Explain clearly its various steps. 

 fu.kZ;u izfØ;k D;k gS\ bl izfØ;k ds fofHkUu pj.k Li"Vr% le>kb,A 

OR @ vFkok@ vFkok@ vFkok@ vFkok 

 What is “Throughput Accounting”? Explain its concept and importance. 

 ^^FkzwiqV ys[kkadu^^ D;k gS\ bldh vo/kkj.kk ,oa egRo dks Li"V dhft,A 
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UNIT –III@@@@    bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.4 Explain classification of cost according to cost Accounting Standard – I 

 ykxr ys[kkadu izeki & I ds vuqlkj ^^ykxr oxhZdj.k^^ dks Li"Vr% le>kb,A 

OR @ vFkok@ vFkok@ vFkok@ vFkok 

 How the price is determined for product and service? Explain clearly. 

 mRikn ,oa lsokvksa dk ewY; fu/kkZj.k dSls gksrk gS\ Li"Vr% le>kb, 

UNIT –IV@@@@    bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.5 What is reporting? Write its importance and distinguish between general and special 

report.  

 izfrosnu D;k gS\ bldk egRo crkrs gq,] lkekU; ,oa fof’k"B izfrosnu esa vUrj fyf[k,A 

OR @ vFkok@ vFkok@ vFkok@ vFkok 

 What is standard cost? Write difference between standard costing and budgetary 

control. 

 izeki ykxr D;k gS\ izeki ykxr o ctVjh fu;a=.k ds vUrj fyf[k,A 

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.6 Explain the term – “cash in flow” and “cash outflow” with reference to cash flow. 

 jksdM+ izokg ds lanHkZ esa & ^^jksdM+ dk vUrokZg^^ rFkk ^^jksdM+ dk cfgokZg^^ dh Li"V 

O;k[;k dhft,A 

OR @ vFkok@ vFkok@ vFkok@ vFkok 

 What is “Market Value Added”? How does it differ from cash value added? 

 cktkj ewY; tksM+ D;k gS\ ;g jksdM+ ewY; tksM+ ls fdl izdkj fHkUu gS\ 
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PART – C @ @ @ @ [k.M[k.M[k.M[k.M& & & & llll    

UNIT –I@ bdkbZbdkbZbdkbZbdkbZ – I 

Q.7 A manufacturing cost of 5000 units of a commodity are as follows –  

(1) Materials 20,000 

(2) Wages 25,000 

(3) Chargeable Exp. 400 

(4) Fixed overhead 26,000 

(5) Variable overhead 4,000 

 For Manufacturing every 1000 Extra units of commodity the cost increases as 

under- 

 (1) Materials    –  Proportionately 

 (2) Wages    – 10% less than proportionately 

 (3) Chargeable Exp.  – Proportionately 

 (4) Fixed overhead   – `200 Extra   

 (5) Variable overhead  – 25% less than proportionately 

 You are required to calculate the estimated cost of manufacturing 8000 units of the 

commodity. 

 ,d oLrq dh 5000 bdkbZ;ksa dh fuekZ.kh ykxr bl izdkj gS &  

¼1½ lkexzh  20]000 

¼2½ Ektnwjh 25]000 

¼3½ pktsZcy O;; 400 

¼4½ LFkk;h mifjO;; 26]000 

¼5½ ifjorZ’khy mifjO;;   4]000 
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 izR;sd 1000 vfrfjDr bdkbZ;ksa ds mRiknu ls ykxr esa fuEukuqlkj o`f) gksrh gSA 

 ¼1½ lkexzh     & vuqikfrd  

 ¼2½ etnwjh     & vuqikfrd ls 10% de 

 ¼3½ pktsZcy O;;   & vuqikfrd 

 ¼4½ LFkkbZ mifjO;;   & `200 vfrfjDr 

 ¼5½ ifjorZu’khy mifjO;;   &  vuqikr ls 25% de 

 vkidks ml oLrq dh 8000 bdkbZ;ksa dks fuekZ.k dk vuqekfur ykxr Kkr djuk gSA 

UNIT –II@ bdkbZbdkbZbdkbZbdkbZ – II 

Q.8 A product X takes 2 hours to produce on a machine which is used to full capacity. 

Its cost Price `21 and marginal cost is `13. A component part “Z” used in the 

production of X, can be made on the same machine in 3 hours. The marginal cost of 

producing “Z” is `10.  It can be brought at the net price of `20 from the market. 

 Show → Should the company make or buy the component. 

 X uked ,d mRiknu esa 2 ?kUVs dk le; yxrk gS tc ,d e’khu iw.kZ {kerk ij dke esa 

vkrh gSA bldh ykxr ewY; `21 rFkk lhekUr ykxr `13 gSA X ds mRiknu gsrq ,d vU; 

la?kVd ^^Z^^ iz;qDr djuk gS] tks bl ij 3 ?kUVs esa fufeZr ¼cuk;k½ gksrk gS bl ^^Z^^ 

la?kVd dh mRiknu ykxr `10 gSA 

 ;g ^^Z^^ la?kVd cktkj esa `20 Ø; fd;k tk ldrk gSA 

 crkb, → D;k dEiuh dks ;g ^^Z^^ la?kVd cukuk pkfg;s ;k cktkj ls Ø; djuk pkfg;sA 
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UNIT –III@ bdkbZbdkbZbdkbZbdkbZ – III 

Q.9 Calculate –  

 (1) Efficiency Ratio  

 (2) Capacity Ratio 

 (3) Activity (Productivity) Ratio from the following figures  

 Information is as under- 

 (1) Budgeted Production  - 80 Unit 

 (2) Standard time per unit - 10 Hours 

 (3) Actual Production   - 75 Unit 

 (4) Actual working period  - 600 Hours 

 fuEukafdr leadkas ls & 

 ¼1½ dk;Z n{krk vuqikr  

 ¼2½ dk;Z {kerk vuqikr  

 ¼3½ fØ;k’khyrk ¼mRikndrk½ vuqikr dk ifjdyu dhft,A 

 lwpuk,¡ bl izdkj gS & 

 ¼1½ ctVsM mRiknu    & 80 bdkbZ 

 ¼2½ izeki le; izfr bdkbZ  & 10 ?kUVs 

 ¼3½ okLrfod mRiknu   & 75 bdkbZ 

 ¼4½ okLrfod dk;Z vof/k  & 600 ?kUVs 
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UNIT –IV@ bdkbZbdkbZbdkbZbdkbZ – IV  

Q.10 Define and explain the concept of A. B. C. Explain the difference between A. B. C. 

and conventional costing. 

 A.B.C. dh ifjHkk"kk ,oa vo/kkj.kk Li"V dhft;s\ A.B.C. rFkk ijEijkxr ykxr ys[kkadu 

iz.kkyh esa vUrj dhft;sA  

UNIT –V@ bdkbZbdkbZbdkbZbdkbZ – V 

Q.11 How can we measure the shareholders returns? How for E.V.A. (Economic Value 

Added) is better than Return on investment (ROI). Explain clearly  

 va'k/kkfj;ksa ds izR;k; dk ekiu dSls fd;k tkrk gS\ vkfFkZd ewY; tksM+ (E.V.A) fofu;ksx 

ij izR;k; (R. I. O.) ls fdl izdkj Js"B gS\ Li"V dhft,A 

----------------------------------------- 


